Reinforcement 1

Complete.
© comp
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\ Has she got wavy hair? [~~~ /\ No, he hasn’t. i

K Has she got giosses?l __\ \ Yes, she has. (
Has he got a moustache?i No, she hasn't.
4
Was she got a ponytail? \ Yes, he has. {
5 o
Has he got a beard? No, she hasn't.
6
Has he got curly hair? Efes, she has. (
7

VHGS she got straight hair?

i No, he hasn't. {
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Reinforcement 2 I3

€ write.
GM tall old thin young short)

@ Write. Then match.

1 ‘old? she Is
Io ohe ofd?

2 thin? (Is _he

s L\Q*‘rl/«f(\?

(No, he isn't.

Yes, he is.

3 {Is istrong? (he
£ \ﬂﬁ. S‘\‘(‘C)nc(zy 7»

4 ‘he 'young? Is r
72 No, heisn’t. |

T e w cuw3

5 ‘she ‘short? 'ls

T gLQ <1Lwﬂt7 Yes, she is.
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